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And he should say; — WTPIR 290 2970 NRMIY PR KA
there is no Toom’oh of hands and utensils in the Beis HaMikdosh

OVERVIEW

X2°py °27 stated (regarding the 7awn of 191 MMV 27 PIOAW "2 LAY HY) that DT
WIpn2 070 XMW PRY so the 2°7° which touched the wa/vrm are MY, The X
asked that since it also states that 12077 is 71770, ¥"3 should have added 29> to his
statement and say W7pna 0°701 0°7° NRMW PRY 1131, Our Mdon explains why this
Twpn thought that the o°%3 should become &nv (if it would not be wIPN3).!

nooIN asks:
=197 N°N2VN N PPYN NN 21’?\’))3)3 IN NNVIY Y5 9 1Y N rdal i 19%249Y NN

The ' is astounded! From what should this 9> (the 7°20) receive nxm; if it is
from the liquid, but v 12 501 testified that the X>mawn N PP is 7w -

N1B0IN answers:
- >RIPININT DIINK RNDOY PPYN HRDIV YINT XD RISPY 5397 9129 W

And one can say that ¥''9 (on whom the jwpn asks) is the one who maintains
that PP can be X»w» others n''mn -

- Y94 8PW Y MY 9 BN
Therefore he cannot maintain that X°120» 02 7PPwn are Y —

Moo responds to an anticipated difficulty:
- ©%95 NPV’ 197 1919 N2YPY 22994 1D AN PN NN

' See “Thinking it over’ # 1.
2 The on31 were 3 that 095 are XMV Sapn from 7pwn (even if the Ppwn are not an ™LA ax). However since
X°mavn 2 Ppwn (the blood and water that are in the slaughterhouse of the p"ni2) are not NXnvn even P9I
(according to 1y 12 °0Y [see R,1°]), so how could the *73 be 78»1W0 23PN from the Ppwn (on the w31 or the vn).
3 See the X3 on X,m that ¥"1 expounds Xnw> which is written by 1pwn to read ®nv> that it is 0" 122K Rawvn.
* Those who maintain 21X Xnv» 1PWH DRV is 113777 can maintain (like 1YY 12 °0v) that in the p"»2 there was no
such 77713, therefore X°maw» n°2 Apwn is 170, however ¥"7 who maintains 2°0R Xnu% PPWA NDRAW is XNPIINT must
disagree with ¥"2> and maintains that X>72v° 022 Ppwn is KNP,
> Granted that X°'maw» 122 PPWn is XN XTA Xnun, but that is only regarding 722X; it certainly cannot be 295 Xawn
n"mn, so why should the 0°%5 be R 22pn from the Ppwn? Just as those who maintain that > MK X0 PRWH XMV is
11277, rule that this 77713 does not apply to X°mav n°2 Ipwn, similarly ¥"1 who agrees that fpw» cannot be 025 Xnvn
n"mn only 132771 should also maintain that X°mav» n°a Ppwn cannot be 0°73 Xnwn. The original question remains,
from what should these 0°25 become X»v?! NN responds.
® Since (®°nawon n*2) apwn is (0"n) 1Y Revn and Ppwn are 1327177 09 XPv» it does not seem right that we should
exclude N°mawn na Ppwn from being 0°95 Rnwn, especially since 0°%5 NXA is not so severe for they have  77mw
mpn1 (see X"wNn). See w"wn for an alternate explanation.
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And the Jwpn did not agree to make this distinction that X°172v°» n°2 1°pwn should

be 2310 from being 2°92 X»WU% even though they are Xnb to be 192 Xnwn, but rather he
maintained that since X172V N°2 PPWwn is (0'"771) P2 v all the rules of IRMY (including Xnv?
0°%2) applies. The reason the 1°30 is v is because there is no WTpna (Ppwnn) 0°95 nRMY.’

MooIN asks:
= 0997 N9 NN XD 1279 13997 RAYPY 229 91N 25 NNDYT 9NN ON)

And if you will say; perhaps when ¥''9 said "1°2t' (that there is no 27 NRMW
wTpn1), the 1913 that 2% can be 82w Yapn from 1Ppwn was not decreed yet -

- 519t 935 VIPY 02157 NI
However the 719912 that 237 are wTp Xnon was already decreed (so therefore v
could only have said 1127 regarding 2°7> (where there was already a 77°13 in place) but not
regarding 02> (where as of yet there was no 7°m) —

mooIn proves his point that the 771 of wTP% 2> preceded the 7771 of 0°%2:
= 12990 191 1NN 9\’)‘11‘,77 AT NNPYYT (0w &0 97 NAYT NP 9992 1999INT

As the X713 states in the first a5 of naw noon, that 7517 7AW was 2°7° DXL 3

for wT? and the later 0°non were 27 nX™W M3 for 72190 by the 127 1" (which was
when they were also 2°22 nR™W 13 from 7pwn).

N1B0IN answers:
- ON2PY 399 197D 931 17759 931 17753 93950 BI9T NTNT MY U

And one can say that the 2°> n2"x was by the 227 n""> and the =227 n"'> pm
preceded ¥''9, so there was 0°93 N7 T3 in the time of ¥".

nooIn asks:
- urpna 0599 ANDIV PRY RINY 799 NI 9NN ON)

And if you will say how does the 87723 know that there is no 279> nX»w in the
wIpn?

— UTPNA N 0293 Y191 92T N7/ NiaYr
Perhaps in the 227 n''> they were 213 on 2°%> even in the w7pn -

7 [Seemingly we would need to say (at this point) that the X»naw™ n°a Ppwn can be o°%2 Xnvn only if the pwn left
the 771v; however in the 771¥ it would not be Xavn since WTpna 2°90 DR PR.]
¥ See “Thinking it over’ # 2.
® This would seemingly mean for wTp outside the 771y (like 212w w32 in 2°%w17°), for wpna 2°7° NRMIV PX.
19 The 727 "> were instituted by the *Xnw1 97 *7%n (see the X0 in MW beginning on 2,3°) who lived (Xnw 977)
one hundred years before the "1 n°a 1271 while ¥"1 lived (during and) after the j27m.
"' The X3 is challenging ¥"9 that he should have said w7pna 2°95 NXmw XY °o1; how is the X3 sure that in the
time of ¥"1 there is no W7pn2 0°70 NRAW.
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=927 17 QTP HNYI NYNN 9NV PIVHVY INPT NN
And that which the mwn states that the knife is =y, that 71w» was taught

prior to the 927 n''> n7°1) -
- 053151 130 NN %29 HY TN Y

For this m1wn was taken from the testimony of 7''®19 who lived before the 1" n7m
237,

Mo0IN answers:
= YIPNA 09950 Yy NNMIV 927 17752 191N NIPNX DNT 9197 U

And one can say that if this so that the 0°non7 were 782 =13 on 2%9> in the
w7pn by the 227 n''> -

IIYI NI NP NNV PIDAY MINPT NIINT 1PYNRYUNRD 01PN DIVA NN 211D N NN
It should have been stated somewhere explicitly (that there is a w7pn2 0°20 n7°M)
in order to let us know that the ;/w» which stated that the knife is 2177w was

taught before the 937 1''> (but now it is Xnv). Since there is no teaching to this effect this
proves that there never was a 77°1 of W7pna 0°20 DML,

SUMMARY
According to ¥"7 (that Xn™7XT 2K Rialol/ TRPWH NXMY) the X°mavn 0°2 PRWH 1s RN
even 0°72. The 127 1" n7°13 was (perhaps after ;7"onA, but) before the time of ¥".

THINKING IT OVER

1. mpoIn asks his question on the 7wpn (how can the 120 become NDU).B Why did
not M1dOIN ask this very same question on the Xin; why teach us that 7170 1°2077; how
could it have become xnu?!"

2. mooin second question was perhaps the 2°7° N1y was before %93 nm."
However this is the answer which'® 21 9nx 777 21 gave?!"’

"2 However in the later time of ¥"1 when they were already 71 the 727 1> there was wTpn2 03 nxmw (and the 120
would have been Xnv), therefore ¥"7 could not have said w7pna 075 XML PRY 127,
" See footnote # 1.
" See yurm o1,
1% See footnote # 8.
' If mooIn is referring to s'827 answer; Moo asks and answers that question in the following 71N 7"7 M2OIN.
"7 See oonon "nr.
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